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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

In -, Watson and Crick proposed the structure of DNA: :gﬁdﬂ&w’vu( DNAuﬁ---LJ/C;lu‘Jb 1.1

1954 (D) 1953 (C) 1952 (B) 1951 (A)

Which one is used in production of plastic : te bw Y e s Gp d ._ﬂlg &z s J_)' G2
Acrylic acid 441&./1 (D) Glycerol Ji#£ (C) Formic acid 4216 (B)  Ethanol J# (A)
The units of androecium are called ) ¥ i S 4L d/ (iz:v:_’ 3
Style J/LL (D) . Stigma e (C) Anthers /3}t I (B) Stamens exis (A)

After formation of ammonia, it is convertedinto 1§.C‘L‘-QJ/{Z/J_.A?U:u’v’f‘/t/’kf':/ﬂtc,’ﬂféc"__(gwg)”' 4
nitrites and nitrates, is called :
Nitrification inasad 5,10 (B) Assimilation il gl (A)
Ammonification &S sl (D) De-nitrification i 5,50 3 (C)
It destroys microorganisms found on non-living objects:  (f b ' /f'CT:/.C/L 2y JP Jeer 2|5
Disinfectants utusisail (w3 (D) Antibioticsu’gf t,ff"f(C) Antisepticsﬁ&" (B) AnalgesichGf&' (A)

7 - \) sz &7

The example of xerophytes plants is : D e Ji J Uy u:'/G,/) ~|6-1
Grass W (D) Cactus u’ﬂ (C)  Seagrass JWGaAB)  Water Lily J& (A)
In normal circumstances, humans breathe - :;.CQJV:.:/J,;/.__ :B,L(!/T&’fuﬁa%wtuw 7

times per minute :
25-30 (D) 20-25 (C) 16 - 20 (B) 12-16 (A)

It controls feelings such as rage, pain, pleasure and sorrow: :c‘;t‘/d:ﬁ;(ayigé‘? (‘ 23! uﬁf VIR ML
Cerebelium (V"/ (D)  Cerebrum ¢z (C) Hypothalamus ‘/égfng (B)  Thalamus u/g (A)

Mendel used - pea plants for his experiments : : YU 16Uy L > -~ L L el g et i Jrr|9

29000 (D) 28000 (C) 27000 (B) 26000 (A)

The embryonic stem below the point of : (7 LSl ypicrelind uﬁjé( 10
attachment of cotyledon is called : )

Epicotyl Ji4§! (D) Hypocotyl JB/%, (C)  Radicle Jii (B)  Plumule Jr4 (A)

The total bones in vertebral column are : - 34 f d/ u,g,f, W fK Jﬁ‘» 11
27 (D) 26 (C) 25 (B) 24 (A)
Meaning of R4 in conservation of nature is : Lee ot § Ll RA b L e p12

Reforest L6t (D) Recydle thsTbits (C)  Reuse J-Lit (B)  Reduce Je1f (A)
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10 2. Write short answers to any Five (5) questions : o Y 4 /‘? L =iy (5) ég & (j/ -2
(i) Differentiate the breathing and respiration. -&-t IS Lﬁ s 29 VQ/. 0]
(i) Differentiate the bronchi and bronchioles. -’&g J/ o /"gg»: 7l (},S‘:/, (ii)
(iif) What is meant by lungs cancer? < sl V < /:/ L. Usse (i)
(iv) What are hydrophytes? Give example also. _é 0/ Je& (%4 tf u’%uﬁf{, (iv)
(v) Define nephron. Also write the name of its types. -s";'“/ui (t L (‘P“F uﬁl -é .,y/‘" J JlE (V)
(Vi) What is the effect of bright and dim light on retina? e 2 Qf £ t ¥ ﬂa 27 (vi)
(Vi) What is meant by suspensory ligament? L Y ey AT (vl
(viii) Define ophthaimology. - ) g i
10 3. Write short answers to any Five (5) questions : : o ) 4 /” L =iy (5) ég P Jf -3
(i) Differentiate the exoskeleton and endoskeleton. -«"f—’)'/ IA AR AR £ (i)
(i) What is meant by Punneétt-square? S sl Lf = d/ ¥ s (i)
(iif) How does multiple fission take place in amoeba? T 3:’: 4 u"’ J G’L U et (i)
(iv) Write two causes of spreading AIDS. Ll =28 2 g &Lk (iv)
(V) How do the inheritable traits pass from parents ?q:&nd"‘ d:u-‘.' U/ /J!:ayr‘; Jw" (v)
to offspring? )
(Vi) Define genes flow. -2 37§ (gene flow) 3l ¥ 2 (vi)
(vii) Differentiate the homozygous and -gd/uf,z’t‘x‘.’ osKals 12 sl G v (vii)
heterozygous genotype.
(Viii) How nucleosomes are formed? Sur Z‘_ A JK /'y‘:.,j;.f (viii)
10 4. Write short answers to any Five (5) questions : - =& =liz & £ =y (5) b O 4
() Why producers are essential in ecosystem? S S u:..f J/{’ﬁ:{ A f"/ ,{ ()]
(i) Differentiate the autotrophs and heterotrophs. -é IO A gf 17 22 sl g/ 1297 (ii)
(iii) Define pollution. -2 wf AT i
(iv) Write symptoms of dengue hemorrhagic fever. -é (f =k d/ 7 o ué')‘ (iv)
(V) What is meant by GMO (Genetically Modified Organism)? Sl (lkbast ) 42,9 51s) GMO (v)
(Vi) Differentiate the endonuclease and ligase. -éf.f: 5 ls J/ ¥ Z;’U 2l ff.b;:f:f«'gl (vi)
(vii) What are the effects of hallucinogens on human health? ?ugé’ Uof}sf&f{cﬁ‘ L 2Rk (vii)
(viil) Define antibiotics. -2 8 UG i
( PART-II ¢ .2)
Note : Attempt any TWO questions. & =y L ety s e éf v

2,2 5. (a) Describe the methods of cleaning of blood -éy&;tfuﬂf’ﬁi./du:@fc;uﬁ’}(fi‘” () .5
by artificial ways.

5 (b) Define arthritis and explain its types. -“é Uk rlﬁ’ »l é .,y/’ J u"””/?ﬂ (..,,)

4 6. (a) What are effectors? Write their role in a -é{/;b/&"‘ﬂﬂl%bff L ?‘J_?Lﬁ‘_(()/‘-@" () .6
coordinated action.

5 (b) What is budding? Explain the process -éwb;Jf&fi;ﬂ}mbﬂ&B’ ?‘a)l/lfc,fﬁg (o)

of budding in fungi and animals.

4 7. (a) Describe four important applications of -g uguwwugéﬂ‘%:&;,/;udm () .7
fermentation in our daily life. T
5 (b) Write important sources of medicinal drugs. “Z 7 s AL el o (&)
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. . -~ 4 5
Which gas reduces the oxygen carrying capacity of 2‘4(}; )/ /7:,311/6/ d__(gJ.. fﬁ f JJ:K:{VWKJ‘J/ 1 -1
haemoglobin: ,
Ammonia ¢»1 (B) Nitrogen Al A)

Carbon dioxide 4L/1313.2,6 (D)

Carbon monoxide 41516 (C)

Which one is reabsorbed in descending limb e drnl 206 U < Ut de Qb & d &7 Y2
of loop of Henle : . 4 ) )
Urea (.¢ (D) Salts :«L/G (C) Glucose s (B)

Which of the following separates middle ear from inner ear :
Cochiea L¥§ (D)  Oval window sJs Jsst(C)

Water &g (A)
et o Bitff Qs 1| 3

Ear drum (5 1 (B) Stapes UF (A)
How many bones are present in both hands collectively : D U/ ] J UrA sy o u:“?b o |4
. o :
80 (D) 126 (C) 54 (B) 33 (A)
(%N — —— - . /
; L s LA U |5
Which type of reproduction is found in corals : 5 D d{g' d, Q’E‘/;/ o
Budding £ (B) Fragmentation MJ/A (A)
u % 7 ) L e . 1 C
Sexual reproduction ¢ 5:41.1Jrg (D) Bmaryftssmn i:j”d/‘. (/) J ﬁfj ’
e G 20l s U JAHO Y
Uterus of sabbit is divided into which two separate parts . < Jﬂﬁ.}uﬁ u;jtr AT NG ) u / "
; ‘ ,
24 (D) Uterus wall JIQJJJ/Z{ (C) Birth canal Jb..fa’/. (B) ;, Cervix U3/
S hesi Zaf(iyﬁ){ Vuf:.uﬁu’?
[ ing i [ thesis : = U : / -
Which of the following is protein syn . ; Ml v
Replication ==+~ (D) Mutation /=% (C)  Translation /™~ i/ (B) Duplication u:;:( )
eplication ™ : - : . +
7, . P »ub & L
bt il 58 s Blowd aoupofa 2 € 7 W o S K e 5 08 B Ly

person which has no antigen present in his blood :

o (D) B (C) AB (B) A (fc)/
ip: e st U G L Jsishy sl 25|19
Termites and protozoan have which symbiotic relationship @ ‘& 'Y Q/)'(j{ Jn g:/ ;/J./(A)
Predation J’i/ (D)  Mutualism (/fr: (C)  Parasitism (iler Lz (B) Commensalism ¢
redation ¢/*4

Wé = : el :( ¥ J 4:: 10
How many tonnes recycling of paper can save 17 trees: u}:‘gt{ =20 17(’ & :;Ji S
Four s (D) Three ¢~ (C) Two » (B) Onz,‘L( ‘) iy (41..] ot
} [ e by U 2 i JE R
Enzyme which is used for joining the genes is : = Cye J =

Eipase 12 éu (D) Amylase f(jl.t (C)  Endonuclease fjﬁ;.’:)l?,' (B) Ligase /,;du (;\)
ipase % - . — -
et S S gl
Psilocin is obtained from which : N t i :
Foxglove ygu/b (D)  Cannabis sativa ’xf"fuJL:( (C)  Mushroom 3/~ (B) Cactus (A)
215-024-11-(Objective Type)- 150° (7462)
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10 2. Write short answers to any Five (5) questions : : ol AT 4 /‘""Zuulr (5) ét P Jf -2

(i) Write the effects of smoking on circulatory system. -Z: // el L b £ ("/ d/’/ (i)
(ii) How respiratory centre controls breathing rate? Y &S J:/ dl f i J J’ » /” Sr e (i)
(iii) What are pleural membranes? Write their function. ~4{ /f J” ¥ oSt U/ Ve J/yj' iii)

(iv) What are leading causes of kidney failure? Ut g uf _—Qi: S d/ e 7 L UN/ (iv)
(v) What problems may arise after kidney transplant? . S &y J = u;( oL U'" I/ (}JJ/ (v)
(vi) Why eyes of cat shine at night? 91 uﬁg ud el u“’{l J J’ (vi)
(vii) How levels of calcium in blood are regulated??§, Ul Lb: osll C}’ 4// e J,,..\.u...l.\fuf B4 (vii)
(viii) Compare receptors and’effectors. » -g‘:; S 65 st 5, (Vi)
10 3. Write short answers to any Five (5) questions : : o A7 4 /‘?‘C@uv (5) ég & Jf -3

(i) Why is the human skeleton /(¢ A2 S 4 L J! ?z‘;t‘tgta?“u#lﬁoijvgfajﬁl@ dLI (i)
considered a living system and what are some of its essential components?
(i) Why is the progesterone hormoneé-crucial for bone?ﬁz.d/:/u[ Uyl %5{%’-1&5‘ Ju;.’»?d: Bdls (ii)
health in females?

(iii) Define semen. L&l J/.] J sl (iii)

(iv) What is the reason of success of seed plants? L Vo g %1 s ung L E (iv)

(v) What are homologous chromosomes? “u‘ In LJ /r)’)/ Jg’rf {v)

(Vi) How does DNA work? et 8 UF U (DNA) < 1 U3 (vi)

{vii) Define incomplete dominance. Give an example. ,é;dv ‘e dr t/ J’du ¢ (vii)

(viii) What is the theory of special creation? fe Lf ./}’ ¥ JL; By (viii)
10 4. Write short answers to any FIVE (5) questions : J W/’Z.«U'r (5) ét < Jf -4

(iy How modification in industrial VccﬁbV/J:/C}ﬂf:’lJ’nL/uLyu"u»Lu(tLbéc,u:”' (i

effluents helps in control of air pollutlon'7

(ii) Differentiate the ecosystem and biosphere. -é o7 A /V AWl f’/ (1 (ii)
(iii) How smog is formed? fe (f S (iii)
(iv) Write down symptoms of dengue fever. s d/ /L-f 06 =5 (iv)
(V) What is importance of biotechnology in agriculture? e o/ s J ey Y = 4:‘: £ =fUi (V)
(vi) What is meant by continuous fermentation? fe At Vo u’w/ (vi) ‘

(vii) For which infections tetracyclines are used? - Ut d(o J Jlﬁ"‘! /"V’/’ 4’. z /gul u( (vii) |
(viii) What is the difference between antiseptics and antibiotics? "c_u/(fu’ u'( LJ’ ) u’g/t_ﬂ (viii) }
( PART-1I (9 );
Note : Attempt any TWO questions. ey Loty v e 30
4 5. (a) Explain the osmoregulatory function of kidney. & e 141 u’/:"f/r’;! ¥ s/ (L) 5

5 (b) Describe the structure and -é d’; J’J S f 2! é ul« Jb’l M3l d/ 45,& (u)

function of bone with its iabelled dlagram

4 6. (a) Describe negative feed back  -&& (ks (7 L i Ko Lig L ufl{)g 2! J‘Jﬂf () -6

mechanism with reference to msulln and glucagon

5 -éutfu”l/’éf’a—up( l//l,bufg)"‘ a‘fJ/Ju”d/L (u)
(b) Define binary fission. Describe it in amoeba with Iabelled diagram.

4 7. (@) Write basic steps of genetic engineering. ‘é /f J’/ ok Z J/‘{l e () 7

5 (b) Write major categories of addictive drugs. -g‘: ;f (U’ S« d/ =l s it ()
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